VA A B U =R UEEHEX]S=1/20

970

0SDPF v FfF B |k

DA A RNY =%« 0SDP A » F ARV i ¥

970

1500

BRAh R A T

S
S
1500 rEA L
S=1/5

¢ 65

$28.5 m—F R

A £ A
(PARTRSA D » X HDZT 77)

65

AvFULT vy —
(IARLELEN D - & HDZT 49)

150

O0SDP A » FF > |k
(VSETRSN D - = HDZT 49)
$28.5 m—F Ry

©

38 54
656

oy z

SUS M8

4100

Yo

MoyLo— R360g A D

Bk

ERAnEEA L

M S=1/10

TARX Y=L

(PARTESA D » X HDZT 77)

~L ¥ ¥ v 7BC

OSDP A > %F v b
(BSERASN D > X HDZT 49)

A XY oy —
(WARNTREA D » = HDZT 49)
A R fF A A
(ARNTEN D » = HDZT 77)

(1fEFT4 )
[l A Hipr | Hot i &

DR NWEVAS Y% 970970 3 | wEmkidignsh - & HDZT 77
OSDPAYF AR /L b $¢28.5 m FARLIER D > X HDZT 77
OSDPE » K ¢ 65 il 1

OSDPAYFF v | $28.5 il 1 R gD o & HDZT 49
A A G 1501509 (¢ 45) | # L] wsphiligheh > & HDZT 77
Ay F)T vy — ¢ 74.5X25 i 1 RSN D - X HDZT 49
Sy v FBC ¢ 100X 150 e} 1 ~yba—R360g AY
AL — R $ 45X 200 1 1

Ly — A

\P

00

$32
b 45

200

0SDP A v F ARV b

¢ 28.5

(RSN D > X HDZT 77)

ZO

UEA N =R
0SDP A » F 7RV |

AL

Ty R

Ty Y—

Ny TT7—

¥rv7

o X

0SDP A » %

Ay FA)

N

BC

R AL




